r—REIE / Product Number

EXHS 187 - 62 -

D

~TiEHIBREEFH / Dimension limit range

D =80 ~ 500

F

I50084F
Flanged Type

BiLE
Color Code

¥ERLINZ / Components

No. FF / Part name = / Pcs #ME / Material £ - R ELE / Color-Finish
1 IS 2 7 JLSHR A1050P Y9Iy - REBE-RERLE T F9I7MI4b
Panel Aluminium A1050P Metallic Silver-Painted (Unfinished inside),Black anodized
2 E—r 2 PhN— 1 7L A6063S-T5 MUyIyLN - REEE-NEROLIE 7 I9IT AL
Heat—sink top cover Extruded aluminium A6063S-T5 Metallic Silver+Painted (Unfinished inside),Black anodized
3 THh— 1 TILSHRHA A6063S-TS I - RE B E-NERLE 7 79T LI4b
Bottom frame Extruded aluminium A6063S-T5 Metallic Silver+Painted (Unfinished inside),Black anodized
4 750 TS vk 4 7L A6063S-T5 RGN = FEE T TIITNIAL
Flange bracket Extruded aluminium A6063S-T5 Metallic Silver+Painted ,Black anodized
5 IAFE RGRART I M4 % 10) 8 ATULR
Screw ( Hexagonal M4-10 ) Stainless steel
6 TS5 UEFE X / Flange screw 4 £% / Steel =258 A—F / Black trivalent chromate
7 5B F v / Flange nut 4 # / Steel ={mE4-OA—F / Black trivalent chromate
8 Z3iAT LB / Rubber feet 4 $1)ara s / Silicone 7597 / Black

KILBTERFIBEATEBYEEA

¢Rubber feet dimensions are not included.

AHESIMMIH I 2HREOEFEGHRRSAHINFBHTEC)FEUEI . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title

)= A Xe—h D5 —R
CUSTOM SIZED HEAT-SINK ENCLOSURE

S
O

B4k (B FEKRED) /Color type

i85 /Code |E—FI 2% -TH/\—/Cover INA)L/Panel
S < JLs\—/Silver < )L7N—/Silver
B 75v7%/Black 7594 /Black

& &8/ Approved

iR

1% X]/Checked

KL

#[X/Created

il A

& /Product number

EXHS187-62-1F]

RE/Scale
1:2

e B /Date

2023/03/22




B-B(1:3)

(V][]

66.5
63.25

4-MARR YT

4-M4Countersunk

Ta

al 2
oAl

N
)

48

173

ERATLE
Rubber feet

E(2:3)
detail E

N

21.5

46

A-A(1:3)
j 149
2 18
2
=] E § 1.8
Q2 ~ 132 2
E—
N\ 1.8
M3k o] 2 Al
M3 nut 14 =
157.5
162
~p 170
180.5

1.5

185

R Ls~NyR M3 X6
Screw M3-6

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
2)—H A Xe—r o5 —R
CUSTOM SIZED HEAT-SINK ENCLOSURE

S
O

& &8/ Approved

iR

#&[X/Checked

KL

#[X/Created

il A

& /Product number

EXHS187-62-1F]

RE/Scale
1:3

fEREE /Date  2022/10/14




E—kS > /\— / Heat—sink top cover

Lo
o
| 185
4-M4 | | 173
6 921 2
| ~
e ——————————— ] —
Bl = 140.4 B | «
149
1775

BREUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
E—k o HHN—
HEAT-SINK TOP COVER

S
O

& &8/ Approved

iR

#&[X/Checked

KT

#[X/Created

fil A

& /Product number

W185

RE/Scale
1:2

R B /Date 2022/10/14




TH/\— / Bottom frame

1.8

1.1,

180.5

177.5

170

132

5.3

162

25

173

185

mf/Title
TAKACHI] #R&#INFBHTE FhiA— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. BOTTOM FRAME
AR/ Approved 1% X]/Checked #[X/Created & /Product number RE/Scale
W185-H60 '3
iR fiE] A< KL 4 s
1ERk B /Date 2022/10/14




INAR)L / Panel

61.5

B-B(1:2)
= 2o
B%h~ti% / Max dim. 44.85
173 .
| A A-A(1:2)
«
© [® i
[e0]
B <
® ol |
B#hT& / Max dim. 170 - A-MAIIE 2
186.5 4-M4Countersunk
> =)
© Ol /Lt
Panell
O/ \\©/

D-D(1:2)
C C-C(1:2)
D
R o J
]
(o F ALY
Panel2
O/ \ 9/
ma/Title A —1
TAKACHI] #ASHANFERIE FILIISRIL O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. PANEL
& &8/ Approved & /Checked #1[X]/Created #IF /Product number RI&/Scale
W186.5-H61.5 1:2
iR KiL fit] A 5 ) 5
YERL B /Date 2022/10/14




46

4

3

¥ERINZ / Components
No. £ / Part name $E / Pcs #E / Material 2 - REAEE / Color-Finish
1 T34k / Bracket 4 TILSIRHA A6063S-T5 / Extruded aluminium A6063S-T5 ARG DN IN—-FBETF9ITF LI+
Metallic Silver-Painted , Black Anodized
2 BFE R (R Ls~NYEM3x6) / Screw M3-6 4 #% / Steel Z{fE /A A—b / Black trivalent chromate
3 Fvbk(M3A) / Nut # / Steel Z{HE/ A A—b / Black trivalent chromate
4 Zi1AT LR / Rubber feet $1)ara s / Silicone 75v7% / Black

6

18 3.2 2 1.5
~ / .
o pos <
(D)
™
— 9 10 3.25
Lo m {——
1 45 4-C2 25 0
6.5 -
8.5 4
2=\
LS
[ |
Lk { 1] 11} {]
18
4/ Title A \_
TAKACHI]| MzteutanFEiT EXS-EXHSVU—XF SMFT 34 vk {} :II
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. WALL MOUNTING BRACKET for EXS - EXHS
E RE/Scale
2/ d X/C IX/C d FIZ/Prod b
15k (BUFRKEO) / Color Type (End of product number[) HKER/ Approve FREL/Checked BB/ Create #/Product number »
£05 / Code £ / Color . EF-361
s A1) 95 )LN— / Metallic Silver iR iR N L
B 75974 / Black YERL B /Date 2020/11/16




	シートとビュー
	EXHS187-62(F)-モデル
	2
	3
	4
	5
	6


